January 24, 2013

Find the divergence of the given function.

F(x,y,z) =cosxzj — sinxyk

dw=0o.




The vector field F is shown in the xy-plane and looks the same in all
other horizontal planes. (In other words, F is independent of z and its
z-component is 0.)

(a) Is div F positive, negative, or zero? Explain.

(b) Determine whether curl F = 0. If not, in which direction does curl
F point?
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The vector field F is shown in the xy-plane and looks the same in all
other horizontal planes. (In other words, F is independent of z and its
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January 24, 2013

Determine whether or not the vector field is conservative. If it is
conservative, find a function f

F(x,y,z) =ycosxyi+ xcosxyj — sinzk




